BID RESULTS				
AB2012-24B REBID SCHOOL ZONE SPEED	CONTROL			
BID OPENING DATE: MAY 23, 2013				
WORK WILL COMMENCE WITHIN 10 DAYS FROM NTP AND COMPLETION 90 DAYS FROM NTP, \$500.00 LD PER CALENDAR DAY, BONDS REQUIRED INCLUDING MAINTENANCE BOND UPON ACCEPTANCE 5% TWO YEARS; PAGE 66 TO FINANCE FOR LOW BIDDER; SUBCONTRACTING IS NOT PERMITTED				
NUMBER OF RESPONDENTS	1			
NAME OF BIDDER	CARR & DUFF INC.			
ADDRESS	2100 BYBERRY ROAD			
CITY, STATE, ZIP	HUNTINGDON VALLEY, PA 19006			
CONTACT	ROBERT W. DUFF			
TELEPHONE	215 672 4200			
FAX	215 675 9800			
E-MAIL	BRIAN@CARRDUFF.COM			
STOCKHOLDER DISCLOSURE	OK			
NEW JERSEY BUSINESS REGISTRATION	OK			
DEBARRED	NO			
PUBLIC WORKS CONTRACTOR REGISTRATION	43530, EXPIRES 5/6/14			
ELECTRICAL LICENSE	34EB00914200 EXPIRES 3/31/15			
EQUIPMENT CERTIFICATION	OK			
NJ DOT PREQUALIFICATION CLASS CODE 7 ELECTRICAL WORK	PREQUALIFIED, C0658			
BID DEPOSIT AND CONSENT OF SURETY	WESTERN SURETY COMPANY 10% NTE 20K, DANIEL P. DUNIGAN AIF WITH POA			
EXHIBIT B	OK			
AA201 REQUIRED	REQUIRED IF AWARDED			
HOLD BEYOND 60 DAYS	YES			
SIGNED PROPOSAL PAGE	YES			
REFERENCES	INCLUDED, ENGINEERING TO CHECK			
SAFETY CERTIFICATION	OK			
BID TOTAL AMOUNT	\$274,090.00			
EXCEPTIONS	NOT REFERENCED			
FATAL FLAW	NO			

	SCHOOL ZONE SPEED CONTROL BID PROPOSAL							
Line No.	DESCRIPTION	QUANTITY	UNITS	UNIT PRICE	SUBTOTAL			
				CARR & DUFF INC.				
1	Traffic Signal Foundation, Type SFT	10	UNITS	2,800.00	28,000.00			
2	Traffic Signal Pole, Aluminum	12	UNITS	1,760.00	21,120.00			
3	Traffic Signal Mast Arm Aluminum (Trombone Type)	12	UNITS	1,820.00	21,840.00			
4	Traffic Signal Mast Arm Aluminum (Trombone Type)	6	UNITS	1,440.00	8,640.00			
5	Solar Powered Mast Arm Mounted Driver Speed Feedback	14	UNITS	5,995.00	83,930.00			
6	Solar Powered Remote Controlled School Zone Assembly	12	UNITS	6,790.00	81,480.00			
7	Removal of Existing Flasher Assembly	12	UNITS	1,525.00	18,300.00			
8	Construction Signs	64	SF	20.00	1,280.00			
9	Traffic Cones	100	UNITS	5.00	500.00			
10	Crash Truck	2	UNITS	750.00	1,500.00			
11	Traffic Directors, Flaggers	100	HOURS	75.00	7,500.00			
	TOTAL				274,090.00			

	BID RESULTS							
AB2012-23B REBID RUMBLE STRIPS FOR MERCER COUNTY DOT  BID OPENING DATE: MAY 23, 2013								
NUMBER OF RESPONDENTS	2							
NAME OF BIDDER	TRAFFIC LINES, INC.	ZONE STRIPING, INC.						
ADDRESS	5100 ASBURY ROAD	PO BOX 568						
CITY, STATE, ZIP	FARMINGDALE, NJ 07727	GLASSBORO, NJ 08028						
CONTACT	MARK SERGEANT	PAUL R. MITCHELL, JR.						
TELEPHONE	732 919 3100	856 582 5900						
FAX	732 919 3101	856 582 1303						
E-MAIL	TRAFFICLINES@GMAIL.COM	P.MITCHELL@ZONESTRIPING.COM						
STOCKHOLDER DISCLOSURE	ОК	OK						
NEW JERSEY BUSINESS REGISTRATION	OK	OK						
DEBARRED	NO	NO						
PUBLIC WORKS CONTRACTOR REGISTRATION	604990, EXPIRES 3/24/14	512747, EXPIRES 5/15/14						
EQUIPMENT CERTIFICATION	OK	ОК						
NJ DOT PREQUALIFICATION CLASS CODE 18 LONG LIFE PAVEMENT MARKINGS	YES	YES						
BID DEPOSIT AND CONSENT OF SURETY	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K, DAWN M. JONES AIF WITH POA	THE GUARANTEE COMPANY OF NORTH AMERICA USA 10% NTE 20K, ERIC GOLDSTEIL AIF WITH POA						
EXHIBIT B	ОК	ОК						
AA201 REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED						
HOLD BEYOND 60 DAYS	YES	NO, WILL NOT HOLD CONSIDERATION BEYOND 60 DAYS						
SIGNED PROPOSAL PAGE	YES	YES						
REFERENCES	INCLUDED, ENGINEERING TO CHECK	INCLUDED						
SAFETY CERTIFICATION	OK	OK						
BID TOTAL AMOUNT	69,288.50	108,333.						
EXCEPTIONS	NONE REFERENCED	NONE REFERENCED						
FATAL FLAW	NO	NO						

AB2012-23 BID PROPOSAL RUMBLE STRIPS											
DESCRIPTION	QUANTITY	UNITS	UNIT PRICE	SUBTOTAL	UNIT PRICE	SUBTOTAL					
			TRAFFIC LINES		ZONE STRIPING						
Description	Quantity	Unit									
Centerline Rumble Strips	27,150	LF	0.55	14,932.50	0.97	26,335.50					
Removal of 4" Wide Traffic Stripes (if and Where Directed)	10,000	LF	1.00	10,000.00	1.11	11,100.00					
4" Wide Traffic Stripes, Long Life, Wet Reflective Sprayable Thermoplastic	54,300	LF	0.59	32,037.00	1.17	63,531.00					
Traffic Control Trucks with Mounted Crash Cushions	2	UNITS	4,500.00	9,000.00	3,376.63	6,753.26					
Cones	500		0.01	5.00	1.00	500.00					
Construction Signs, 48" x 48"	64	SF	1.00	64.00	1.00	64.00					
Traffic Directors, Flaggers	50		65.00	3,250.00	1	50.00					
TOTAL				69,288.50		108,333.76					